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(#E8)

T & Zd b7 H S B T # B Hifif =
{(+T)
) 4 (5100 X 3,210 + 3.780 X 1.800 ) /2 X 2. 350 27. 570 m3
27.570 — 5.412 — 0.363 X 0.300 X 3 — 0.22] X 0.300
HE EAL — 0.359 — 0.425 — 0.212 — 4,248 X 0.100 — 0.450 x 0.314 20. 147 m3
X 0.846 — 0.450 X 0,248 X 0,682
e 2.050 % 1.440 4, 248 m2
Ay 27.570 m3
(Fhf LA T
gy RC-40 (t=1 ogm) 2,950 X 1,440 4, 248 m?
¥Boz)—Fk 18N~-8~25 2,950 X 1.440 X 0.050 0.212 m3
=y Y—h 18N—8—40 { 3.405 X 1.440 — 0.383 X 3 — 0.221 )} X 0.100 0. 359 m3
24N—8—25 2,950 X 1,440 X 0.100 0, 425 m3
Al B {2,950 + 1.440 ) X 0.050 X 2 0. 439 mé2
e {3,405 + 1.440) X 0.100 X 2 0. 969 m2
SRS {2.950 + 1.440 ) X 0,100 X 2 0. 878 m2



水道課
テキストボックス
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T H R 57) ) =\ = B 12
=3 D13 EFRERRLD 43.072 kg
&A S 0.212 + 0.359 0.571 m3
A 0. 425 m3
(LM E
7TNIE R AR 1. 000 %=
kR 7 1. 000 %




¥ B £ 3

[BERI] (( ELAHO)
T i 4 g M =1 pau B B B {ir HRE
(+1)
el 45 0.19 X 5. 465 . 038 m3
Eye BEAE 0,13 X L000 4+ 011 X 6 100 . 801 m3
HE B A 0.08 X 5.485 . 437 m3
EmE 0.45 X 5.465 . 459 m2
sy 1.038 — 0.437 . 801 m3
(FET)
EHEERT VU100 1.000 + 0,095 - 0,165 . 230 m
VP ¢ 40 . 100 m
90° AR (40) . 000 H
EMEREL HE e 200-90L . 000 |
MEVUS 200 0.570 — 0.018 — 0.135 417 m
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[ A& T]

¥ 2 B F

(FEBT)

T i % i 3} s =1 = 2 By R
(1)
e +7b (4,700 X 3.000 + 3.410 X 1.800 ) /2 X 2. 150 99, 211 m3
92,211 — 5.163 — 0.340 X 0.340 X 7 X 0.100 X 3
R BAL — 0.316 — 0.425 - 0.212 — 4,248 X 0.100 — 0.450 X 0.314 15. 329 m3
X 0.846 — 0.450 X 0,314 X 0.801
EEEIE 2.950 X I, 440 4. 248 m2
7 LSy 22.211 m3
(PRRRBERE L)
e RC—~40 (t=10cm | 2.950 X 1.440 4,248 m
ooy ) b 18N—8—25 2.950 X 1.440 X 0.050 0.212 m3
iy Y— 18N—8—40 (2.950 X 1.440 — 0.363 X 3 ) X 0.100 0.316 m3
24N—8—25 2.950 X 1.440 X 0.100 0. 425 m3
Rk Ty (2.950 4+ 1.440 ) X 0.050 X 2 0. 439 m2
s (2,950 = 1.440) X 0.100 X 2 0.878 m?2
A (2,950 ~ 1.440) X 0.100 X 2 0. 878 m2
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T & zd R ) 21 =2y B B B LS
£ D13 EARSHER LY 43.072 kg
o A S e 6600 s.000 | B
EBE fmay 0,212 + 0,316 0.528 m3
AR 0. 425 m3
(i efERETD)
N | g TR 1. 000 £
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[‘FEET] (§==Rli:l)
T 4 % 5 B = B | s | mE
(1)
el +7p 0.22 X 1.210 . 266 m3
pric AL 0.132 X 1.000 -+ 0.13 X 3.500 . 585 m3
M Zed+ 0.08 x 1.210 . 087 m3
HEETF 0.45 X 1.210 . 545 m2
BNy 0.266 — 0,097 . 169 m3
(FEL)
AR VUe 100 0.969 + 1.422 + 1.872 . 263 m
STI90L (0150) . 000 18l
EMRET EMo200—-ST . 000 &
HEVU200 0.370 — 0.018 — 0.135 217 | m
AR E T SDY9OL ($150) . 000 1@
HEVUG 150 0.533 — 0.015 — 0.130 . 383 m
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(B )
T F& 4 B # % =1 7 n B Bifr =
(ET)
o2 U REEL HEE 18.48 X 0.100 1. 348 m3
(myo J— MEEEIRT)
. . 18N—8-—-40
SRR L =1 0em 9, 230 m?
FEAE RC—40 t=10cm 9. 230 m2
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(H8h)

T i £ L Hi ¥ =2y = Bifir =
(+T1)
] +# (4.310 X 2.970 + 2.960 X 1.820) 2 X 2.250 19. 795 m3
19,795 — 3.606 — 0.340 X 0.340 X = ¥ 0.200 X 3
HEE WAL — 0.206 — 0.315 — 0.158 — 3,150 X 0,100 — 0.450 X 0.314 14. T44 m3
X (.846 — 0.450 X 0.314 X 0.801
EEEI 2.500 X 1,280 3. 150 m?2
By 19.795 m3
R AR ERE D
Py o) RC—40 (t=10cm 2. 500 . 260 3. 150 m?
a7 —h 18N—~8-25 2. 500 L2680 X 0.050 0. 158 m3
a7 Y—F 18N—8-40 { 2.500 JOB0 —~ 0.363 X 3 ) X 0.100 0. 206 m3
2AN—8—25 2. 500 L260 X 0.100 0.315 m3
Fl e P =y { 2.500 J260 ) X 0,050 X 2 0. 376 m2
ST { 2. 500 L2680 ) X 0.100 X 2 0. 752 m?
geis { 2.500 L2680 ) X 0.100 X 2 0. 752 m2
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T il %4 R b 7) & 2¢ ¥ B BT T
8 D13 EAFEISETER 1D 30.918 kg
7 LA T 6600 3. 000 1
k360 ) 0.158 + 0.208 0. 364 m3
7.0 0.315 m3
(LERET)
5 A R 1. 000 &
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(] (ee)

il
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T 4 mo | #® B 5 e % B | mir | mE
{z-T)
gl +7b 0.32 X 8.603 2.753 m3
HE A 0.13 X 0.500 + 0.13 X 9.400 1. 287 m3
5= BAEL 0.18 X 8.803 1. 549 m3
EEmEEIE 0.45 X 8.603 3. 871 m2
Py 2.753 — 1.549 1. 204 m3
(BET)
BB VU100 0.430 -+ 0.883 1.313 m
VP4100 8. 292 | 8. 292 m
ST (457) 1. 000 &
45 AR (100) 1. 000 fi&
EMRET EHo200-~90L 1. 000 &l
HEVUS200 0.475 — 0.018 — 0.135 0.322 m
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[AfxT] (e Bh»
T & % FR M & A i ¥ B BT e
(+T1)
HRH! L& (4,820 X 3,210 -+ 3.410 X 1.800) /2 X 2.350 25. 392 m3
95.392 — 5,163 — 0.340 X 0.340 X 7 X 0.300 X 3
EE BEA A — 0.316 — 0.425 — 0.212 — 4,248 X 0.100 — 0.450 X 0.314 18.292 m3
X 0.846 -~ 0.450 X 0.314 X 0.801
A 2.950 X 1.440 4. 248 m2
¥ uwo B 25. 392 m3
(FRARZRET)
ARG RC—~40 (t=10cm | 2.950 X 1.440 4. 248 m2
s )—hk 18N—8—25 2.950 X 1,440 X 0.050 0.212 m3
a7 Y—h 18N—8-40 (2.950 X 1.440 — 0.363 X 3 ) x 0.100 0.316 m3
24N-8—25 2.950 % 1.440 X 0.100 0. 425 m3
Rl BTay (2.950 + 1.440 ) % 0.060 X 2 0, 439 me
i (2.950 - 1.440) X 0.100 X 2 0. 878 m?
iy (2.950 + 1.440 ) X 0,100 X 2 0.878 m2
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T i % e <) H 2N ¥ B Bifir L
A D13 BB ERER LD 43.072 ke
7 =LA T 4600 3. 000 &
s R 0.212 + 0.316 0.528 m3
5 0. 425 m3
(HeEREI)
(PN s A 1. 000 %
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[EET] (B
T & Z4 5 i) % 2y ¥ o= HfL T
(41
el +-7 0.33 3. 676 1.213 m3
R A+ 0.13 1.000 + 0.13 X 4.500 0.715 m3
W HEAEL 0.19 3. 676 0. 698 m3
EmEIE 0. 45 3. 676 1. 654 m2
LAy 1.213 — 0.698 0.515 m3
(FRI)
BHEET VUe 100 0.975 + 1.351 + 2.859 5.185 m
ST (60° ) 1. 000 1A
ERRET HMo200-90WY 1. 000 18
HEVUS200 0.600 ~ 0.018 — 0.020 — 0.135 0. 427 m
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el

CEELIH )

T & £ b H & =1 2V W B Bifir T
(1)

Ay J—bEREL HERS 4,31 % 0.100 0.431 m3
(=2 U hFEEIRT)

- _ 18N-—-8—40

avyV—F t =10 3. 040 m2

EAE RC—40 t=10Ocm 3. 040 m2
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